MATH 237 Sochacki Exam 3 Name K_E Y WEST
Nov. 15,2016 In Class Part 75 Points {Print) (1 point)

All necessary work must be shown for credit. Part of your score is the work vou show. Work must be NEAT.
You may NOT use computers, notes or texts.

I have neither received nor given help on this exam. - Aj on %/"S(

(Signature) (2 points) I

1. Give the value of _[0 I 2 xcos(xy)dydx. (9 points)
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2. Give the average value of z=xy—y* over O ={(x,»)|0<x<2y,0<y <2} (9 points)
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3. Let f(x,y)=x"+2xy+4)* —4x+8y+20. Give the equation of the tangent plane at the points where
grad(f)=0. (9 points)
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4. Give the equation of the line normal to the level surface of f(x,¥,2z) =1In(x* +y* —z) at (3,4,5). What is the
level surface? (9 points)
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5. Give the average value of z=[2x—y| over Q= {(x ¥ -1£x<2,-2<y< 6} (9 points)
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6. Evaluate [ [, ysin(x*)dxdy . (9 points)
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7. Give the volume of the solid bounded by z=18-x* — y* and z=x"+y*. (9 points)
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8. Give the average value of z= 12x over the region bounded by x=0,y=0,z=0 and x+ ytz= 3. (9 points)
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